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QUESTION 1

What is the purpose of the Asset Repository? 

A. To store IBM certified container images 

B. To store integration artifacts and documents 

C. To store data of the servers that compose the cluster 

D. To store container images generated in the platform 

Correct Answer: C 

 

QUESTION 2

In Cloud Pak for Integration, which object can be used to request storage resources without knowing the underlying
storage infrastructure? 

A. Persistent Volume Claim (PVC) 

B. Persistent Volume (PV) 

C. RADOS Block Device (RBD) 

D. Elastic Block Storage (EBS) 

Correct Answer: C 

 

QUESTION 3

A decentralized ownership approach in modern agile integration methodology leads to which benefit? 

A. Accelerated development agility 

B. Operational agility with dynamic scalability and inherent resilience 

C. Installation agility that enables auto deployment 

D. Business agility with a guaranteed improved time to market 

Correct Answer: B 

 

QUESTION 4

What is the minimum number of CPU cores that are required to install the Cloud Pak for Integration Common Services? 

A. 16 cores 
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B. 2 cores 

C. 4 cores 

D. 8 cores 

Correct Answer: C 

 

QUESTION 5

Which two scenarios are true for a customer who buys licenses of Cloud Pak for Integration (CP4I)? 

A. Entitlements will be consumed when CP4I features like tracing, common services, and Platform Navigator are used 

B. Customer can use some of these entitlements for deploying WebSphere Application Server 

C. These entitlements can be used for deploying any capability that comes as part of CP4I 

D. Customer will need to purchase equivalent entitlements to Red Hat OpenShift Container Platform 

E. Customer can use these entitlements to run standalone version of components bundled in CP4I 

Correct Answer: AC 

 

QUESTION 6

What is one benefit of the IBM Event Streams capability? 

A. Provides ability to visualize issues in near real time so they can be worked on and reduce wait times 

B. Provides a fully managed Apache Kafka service 

C. Delivers cross-component tracing and insights on call paths and latencies 

D. Provides data streaming functions and optimized bandwidth tiers 

Correct Answer: A 

 

QUESTION 7

Which capability of the Cloud Pak for Integration secures the front door of a cloud native application? 

A. Messaging 

B. API Management 

C. App Connect Enterprise 

D. Event Streams 

Correct Answer: B 
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QUESTION 8

When deploying API Connect on an OpenShift cluster, what are the minimum number of nodes required for high
availability for the platform? 

A. 2 Master Nodes and 2 Worker Nodes 

B. 1 Master Node and 2 Worker Nodes 

C. 1 Master Node and 3 Worker Nodes 

D. 3 Master Nodes and 3 Worker Nodes 

Correct Answer: C 

 

QUESTION 9

An OpenShift v4 control plane node has failed. Which is the recommended method to restore the cluster? 

A. Restore all cluster master hosts from a previous backup 

B. Remove the member from the etcd cluster and then add the member back to the etcd cluster 

C. Remove the member from the API server cluster and then add the member back to the API server cluster 

D. Run the master-restore script provided as part of OpenShift 4 

Correct Answer: D 

 

QUESTION 10

Click the diagram that shows a decentralized IBM MQ Containerized Architecture: 

Hot Area: 
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Correct Answer: 
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